
����� 4 
����	
���� 

 

 �����������	
��	
����������
������� ��������
��
��������� �
��!����"� �����
#!���!��$� #!�����%�&'��&�(���
����)�&%*�
������+�$ (�$����$����$��&�,���
����)�&%
���
�������� �
��� (�$����$#��%-�!�
��
����)
&�&�"�$����&��&�� Cointegration #!� ECM (Error 

Correction Model) ��
��������� ARDL (Autoregressive Distributed Lag) .��
���
#��%-�!�
+�"%-�#�����#������%�&'��&�(���
����)�&%*�
������+�$��/� 2 ��0� +�"#�  
1!&�2�03�
�!��
2�$.�������*�
������+�$ (GDP) #!� ��4��1!1!&����������
 (MPI) 

� �����#�������#!���!��$� +�"%-�#����/� 2 ���!�
&� 2 �5�#�� +�"#�  �����#!���!��$�� ��!�

*�
�
&����!��!!�������)� ��
&���� #!��
&����!�$�'����6�� ��
&���� ��� �����#!���!��$����
#�"%�&
*�
�
&����!��!!�������)� ��
&���� #!��
&����!�$�'����6�� ��
&���� (�$��
���
�-�+��5 ����&����������
��
�����#!��&%��0�1!��������
�� �����%�&'��&�(���
����)�&%��	

.���$���	�#!�.���$�$�� 

 #��%-�!�
.������������	
��	 .4"#��%-�!�
��
����)
&�&��
��������� ARDL 

(Autoregressive Distributed Lag) �������"�$*�	����������������-���' 2 *�	�����!�� 7��
+�".�"
���
��.%���%����%���#!����
�0� �.���$���	�����5 ���������
�0� �.���$�$�� (�$
*�	������� 1 ��/�������$����.4"� ���&�& F-Statistic �������������
��
��������
��$5 .���$�$�� 

���� ��������
� Cointegration *�
���#�� �"�$�����	
�

�&)���!����� 0  H 3210 ���� ���

#!��

�&)����
��� 0  H 3211 ���� ��� (�$�������� Cointegration ��
��������� 

ARDL %�+
 ��
�������������� Cointegration (�$����+� �����
���.4"����&���
��������� 

ARDL 
�����!���!��$
���%�%���
���
5 *�
���#��.�"��/� I(1) #!� I(0) �����	
+
 %-���/��"�
�-����
����� Unit Root � �� 7��
1!��������.�*�	������� 1 *�
����������	��� ���
����-���0� � 
F-statistic (�$ ��0�1!&�2�03�
�!��
2�$.�������*�
������+�$ (GDP) 
�!-�������
! �4"� 
4 Lag Order #!� ��0���4��1!1!&����������
 (MPI) 
�!-�������
! �4"� 12 Lag Order #� 
�����
%��1!���+�"
����
� ��+��+
 #� ���.� Lag Order ���#��� �
��� ������� �
��� Lag Order 

��!��$�#�!
+��8�-�.�"1!����&���������!��$�#�!
+��"�$ 
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*�	������� 2 +�"�-�������
�0� � Error Correction term (ECt-1) �����8��� Error Correction 

Model (ECM) ������&�������1!�����.���$���	� �"����#��
� Cointegration � ���� ��������

! �4"�*�
���#���8%�
�%�����
! �4"�*�
 Error Correction term #� �"�+
 
� Cointegration � ����
#!"�%���
���.�"���
! �4"�*�
 Error Correction term +��-�������

���$�-���' #!�
���
��
�����.���$�$��+�" (�$ Error Correction term ���
��$5 %�#��
��
��������
! �4"�*�
���
#������-��������� � �
�!���0�*�
��� Cointegration �$5 �"�$ 7��
����!��� Lagged Length �����
��
*�
#� !����#��(�$.4"��03�.�����!������ AIC (Akaike Information Criterion) #!� SBC 

(Schwartz Baysian Criterion) 7��
1!�����������+�"%������!�����
��03���	
��
� ��*"�

����!"�
��� ��
��	������������	
��	%�
.4"��03� AIC (Akaike Information Criterion) .����
�&��������� ���	� 

(�$1!����������
�����&��$#$���
 1!&�2�03�
�!��
2�$.�������*�
������
+�$ (GDP) ��4��1!1!&����������
 (MPI) �����#!���!��$� 2 ���!�
&� 2 �5�#�� +�"#�  �����
#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&����, �����#!���!��$����#�"%�&
*�
�
&����!
��!!�������)� ��
&����, �����#!���!��$�� ��!�
*�
�
&����!�$�'����6�� ��
&���� #!������
#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&���� ��
��	 

 

4.1 �	
�������
�����	��������	���
����	���
���!�����	�!���������"#������������
$�%�&����	�$'	�(�#�������� 
 

����������
*�	���� 2 *�	���� .���������� ARDL ��	���� � .�*�	������� 1 7��
��/�
���������

�&)��� �#��%-�!�
��������
����
��
���������$5 ����+
  (�$����-���0� ���&�&  
F – statistic %�+�"1!%������-���0� � F – statistic ��
#��
.�����
 4.1 7��
��0�*�
�����
#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&���� �
����&%��0���	
#� 4 �
*�
!-�������

! �4"���� 1 ��
 4 ��� �� ���&�& F – statistic ����-���0+�"
�� ��5
�� �� ��&�,�*���*����$5  1 !-���� 

��� ���!-�������
! �4"���� 4 %�
��
����9&����

�&)���!��+�" #!����+�"� ����#��
�
���
��
��������.���������
! �4"���
�! �� � ����0����!-�������
! �4"���� 1 ��
 3 ��� �� ���&�&           
F – statistic ����-���0+�"
�� ������-��� �� ��&�,�*���*�! �
 %�
+
 ��
����9&����

�&)���!��+�" 
7��
���+�"� � ���#������-���������+
 
����
��
�������� #� �$ �
+��8��
����&����������
�
����&��&2��
���� ���� *�	������� 2 ���
�������
�0� �(�$�&%��0�%�� Error Correction term 

(ECt-1) �����8��� Error Correction Model (ECM) ��
��������� ARDL 
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��	����� 4.1 � ���&�& F – statistic �-���������&����������
����
��
��������*�
���#����!����"� 
�����#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&���� #!�����%�&'��&�(���
����)�&%
*�
������+�$ (1!&�2�03�
�!��
2�$.�������*�
������+�$) 

!-�������
! �4"� (Lag Order) ����%�&'��&�(���
����)�&%*�
+�$ 

1   0.32975 

2   0.44107 

3   2.38700 

4     3.89730* 

���
� : %������-���0 

�
�$���� : 1) * #��
��$�-���'�������� 0.10 

 2) 0 �������$�-���' 0.10 � �*���*��&�,�*�
� ���&�& F – statistic   

  �$5 .�4 �
 2.711 – 3.800 

 

 �����������
����
��
��������%��������
�0� �*�
 ECt-1 ���� ECM ��

��������� ARDL ��
����
��� 4.2 (�$��/����#��
��
�����&��!+��������������%����!$2��
*�
���#������"�
����������	
�
� +�"#�  1!&�2�03�
�!��
2�$.�������*�
������+�$ 

(lnYGDP) ��!����"� (lnTB) #!� �����#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&���� 

(lnNEXUSD) .�"�*"��5 ��!$2��.���$�$�� 7��
�����������*"��5 ��!$2��.���$�$��*�
#� !����
#����	�.�"1!.�4 �
��$���!�*�
���
! �4"����#��� �
������+� 

 1!�������������*�
��!����"� #!������#!���!��$�� ��!�
*�
�
&����!��!!���
����)� ��
&���� ���
�� �1!&�2�03�
�!��
2�$.�������*�
������+�$ ��/���
��	 
 ���#����!����"� (�lnTB) ��
����
 4.2 ��� � AIC �!���4 �
��!������
���
��� ���

! �4"�!-������� 1 (�$���#����!����"� 
�� ���
����&��&:�� ���� -0.020726 7��
� ���
����&��&:
�� ���/�
!� +
 ����!"�
����

�&)�������	
+�".�4 �
���
! �4"���� 1 #!���� �� ���&�& t-statistic ����-���0
+�" +
 
���$�-���'��
��&�& (0 �������$�-���'�������� 0.10) #��
� � �����!��$�#�!
*�
��!����"�
+
 
����
��
��������1!&�2�03�
�!��
2�$.�������*�
������+�$.�4 �
!-�������
! �4"�.�
.���$���	� 

 ���#�������#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&���� (�lnNEXUSD) ��

����
 4.2 ��� � AIC �!���4 �
��!������
���
��� ���
! �4"�!-������� 1 ��
 4 (�$���#�������
#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&���� 
�� ���
����&��&:�� ���� -0.05926,          
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-0.10284, -0.18639 #!� -0.24529 ��
!-���� 7��
� ���
����&��&:
�� ���/�!� +
 ����!"�
���
�

�&)�������	
+�".�4 �
���
! �4"���� 1 ��
 4 #!���� �� ���&�& t-statistic ����-���0+�"
���$�-���'
��
��&�& 0 �������$�-���'�������� 0.01 .�4 �
!-�������
! �4"���� 3 #!� 4 ��
!-���� #��
� ����
��!��$�#�!
*�
�����#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&���� 
�1!� �1!&�2�03�

�!��
2�$.�������*�
������+�$.�4 �
!-�������
! �4"���� 3 ��
 4 

 (�$���� ���
����&��&:*�
 ECt-1 *�
�
���#��%-�!�
�� ���� -0.000714 7��
����!"�
���
���������0�+�" (-1 < ECt-1 < 0) �
�$���
� � � ����
�!����!�����������$
������%����!$2��%�
��������*"��5 ��!$2��.���$�$�� (�$+
 
���$�-���'��
��&�&*�
� ���
����&��&:*�
 ECt-1 (0 

�������$�-���'�������� 0.10) � 
���+�"� ����#����!����"� #!������#!���!��$�� ��!�
*�
�
&�
���!��!!�������)� ��
&���� 
����
��
����������� 1!&�2�03�
�!��
2�$.�������*�

������+�$ (�$+
 
���$�-���'��
��&�& 
 ����&����������
��
�����*�
��!����"� �����#!���!��$�� ��!�
*�
�
&����!��!!���
����)� ��
&���� #!� 1!&�2�03�
�!��
2�$.�������*�
������+�$ .���$�$��
�1!
����������
��	 
 

lnYGDP        =        -417.0378          -        29.0185lnTB        +        124.2162lnNEXUSD              (4.1) 

    (-0.017036)     (-0.018413)   (0.017607) 

 

�
�$���� : 1) ����!*.��
�!8� ( ) #��
� ���&�& t-statistic (two-tailed tests) 

 

 �����*�
��!����"����
�1!� �1!&�2�03�
�!��
2�$.�������*�
������+�$ %��
�
��� (4.1) ��� � � ���
����&��&:*�
���#����!����"� (lnTB) �� ���� -29.0185 (�$� �
��
����&��&:*�
���#����/�!� 7��
+
 ��/�+���
�

�&)��*�
#��%-�!�
 ���+�"������
+�" 
�! ����� �����!��$�#�!
*�
��!����"� � 
1!.��&���
��
���*"�
 ��� 1!&�2�03�
�!��

2�$.�������*�
������+�$ %��� ���
����&��&:���+�"�� ���� -29.0185 �
�$���
� � �
���
5!� �
��!����"���&�
*�	��"�$!� 1 %��-�.�" 
5!� �1!&�2�03�
�!��
2�$.�������*�
������+�$!�!

�"�$!� 29.0185 #!�+
 
���$�-���'��
��&�& (0 �������$�-���'�������� 0.10) #��
.�"��8�� � 
��!����"�+
 
����
��
��������1!&�2�03�
�!��
2�$.�������*�
������+�$.���$�$�� 

 �����*�
�����#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&���� ���
�1!� �
1!&�2�03�
�!��
2�$.�������*�
������+�$ %���
��� (4.1) ��� � � ���
����&��&:*�
���
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#�������#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&���� (lnNEXUSD) �� ���� 124.2162 

(�$� ���
����&��&:*�
���#����/���� 7��
��/�+���
�

�&)��*�
#��%-�!�
 ���+�"������
+�" 
�! ����� �����!��$�#�!
*�
�����#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&���� 

� 
1!.��&���
���$���� ��� 1!&�2�03�
�!��
2�$.�������*�
������+�$ %��� �
��
����&��&:���+�"�� ���� 124.2162 �
�$���
� � �
��������#!���!��$�� ��!�
*�
�
&����!��!!���
����)� ��
&������&�
*�	��"�$!� 1 %��-�.�" 
5!� �1!&�2�03�
�!��
2�$.�������*�
������
+�$��&�
*�	��"�$!� 124.2162 #!�+
 
���$�-���'��
��&�& (0 �������$�-���'�������� 0.10) #��
.�"
��8�� � �����#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&����+
 
����
��
��������
1!&�2�03�
�!��
2�$.�������*�
������+�$.���$�$�� 
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�� 4.2
 ��
��
��

�
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 ��
�
�
��
�&�
�&:*
�

���
#�
��
�	
�

�
�"�
$�
&���
�� 

Er
ro

r C
or

re
ct

io
n 
*�

#
��
%-�!
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 A

R
D

L 
(�
$.4

"��0
3� 

A
IC

 (A
ka

ik
e 

In
fo

rm
at

io
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C
rit

er
io

n)
 ��
0�1
!&�
2�0
3�

�!
��

2
�$.
��
��
���

*�

�
��
���

+�
$#
!�
���
��#

!�
��!

��$�
� �
�!
�
*
�

�
&�
��
�!�
�!
!�
���
��
�)�
 ��

&��
��

 

���
#�
� (

V
ar

ia
bl

e)
 

!-�
���
��
�

! �
4"�

 (L
ag

 O
rd

er
) 

1 
2 

3 
4 

�l
nY

G
D

P 
-0

.0
12

76
9 

-0
.8

51
37

 

(-
0.

15
10

5)
 

(-
10

.6
94

6*
**

) 

�l
nT

B
 

-0
.0

20
72

6 
 

(-
0.

34
90

1)
 

 

�l
nN

EX
U

SD
 

-0
.0

59
26

 
-0

.1
02

84
 

-0
.1

86
39

 
-0

.2
45

29
 

(-
0.

57
38

3)
 

(-
1.

42
39

) 
(-

2.
75

61
**

*)
 

(-
3.

34
55

**
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C
on

st
an
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-0

.2
97

86
 

(-
0.

39
80

2)
 

EC
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-0

.0
00

71
4 

(-
0.

01
77

83
) 

���

� : 
%��

��
��
-��
�0

 

�

�$�
��
� : 1

) �
���!
*.
��

�!
8� (

 ) 
#�
�

� �
��
&�& t

-s
ta

tis
tic

 (t
w

o-
ta

ile
d 

te
st

s)
 

 
2)

 *
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 #�
�

��$
�-�
��'
����
��
�� 0

.0
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4.2 �	
�������
�����	��������	���
����	���
���!�����	�!������������!�)*	���������
$�%�&����	�$'	�(�#�������� 
 
 ����������
*�	���� 2 *�	���� .���������� ARDL ��	���� � .�*�	������� 1 7��
��/�
���������

�&)��� �#��%-�!�
��������
����
��
���������$5 ����+
  (�$����-���0� ���&�&  
F – statistic %�+�"1!%������-���0� � F – statistic ��
#��
.�����
 4.3 7��
��0�*�
�����
#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&���� �
����&%��0���	
#� 4 �
*�
!-�������

! �4"���� 1 ��
 4 ��� �� ���&�& F – statistic ����-���0+�"
�� ��5
�� �� ��&�,�*���*����$5  1 !-���� 

��� ���!-�������
! �4"���� 4 %�
��
����9&����

�&)���!��+�" #!����+�"� ����#��
�
���
��
��������.���������
! �4"���
�! �� � ����0����!-�������
! �4"���� 1 ��
 3 ��� �� ���&�&           
F – statistic ����-���0+�"
�� ������-��� �� ��&�,�*���*�! �
 %�
+
 ��
����9&����

�&)���!��+�" 
7��
���+�"� � ���#������-���������+
 
����
��
�������� #� �$ �
+��8��
����&����������
�
����&��&2��
���� ���� *�	������� 2 ���
�������
�0� �(�$�&%��0�%�� Error Correction term 

(ECt-1) �����8��� Error Correction Model (ECM) ��
��������� ARDL 
 
��	����� 4.3 � ���&�& F – statistic �-���������&����������
����
��
��������*�
���#����!����"� 
�����#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&���� #!�����%�&'��&�(���
����)�&%
*�
������+�$ (1!&�2�03�
�!��
2�$.�������*�
������+�$) 

!-�������
! �4"� (Lag Order) ����%�&'��&�(���
����)�&%*�
+�$ 

1 0.29250 

2 0.57376 

3 2.55040 

4  4.08770* 

���
� : %������-���0 

�
�$���� : 1) * #��
��$�-���'�������� 0.10 

 2) 0 �������$�-���' 0.10 � �*���*��&�,�*�
� ���&�& F – statistic   

  �$5 .�4 �
 2.711 – 3.800 

 
 �����������
����
��
��������%��������
�0� �*�
 ECt-1 ���� ECM ��

��������� ARDL ��
����
��� 4.4 (�$��/����#��
��
�����&��!+��������������%����!$2��
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*�
���#������"�
����������	
�
� +�"#�  1!&�2�03�
�!��
2�$.�������*�
������+�$ 

(lnYGDP) ��!����"� (lnTB) #!� �����#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&���� 

(lnREXTHB,USD) .�"�*"��5 ��!$2��.���$�$�� 7��
�����������*"��5 ��!$2��.���$�$��*�
#� !����
#����	�.�"1!.�4 �
��$���!�*�
���
! �4"����#��� �
������+� 

 1!�������������*�
��!����"� #!������#!���!��$����#�"%�&
*�
�
&����!��!!���
����)� ��
&���� ���
�� �1!&�2�03�
�!��
2�$.�������*�
������+�$ ��/���
��	 
 ���#����!����"� (�lnTB) ��
����
 4.4 ��� � AIC �!���4 �
��!������
���
��� ���

! �4"�!-������� 1 (�$���#����!����"� 
�� ���
����&��&:�� ���� -0.014502 7��
� ���
����&��&:
�� ���/�
!� +
 ����!"�
����

�&)�������	
+�".�4 �
���
! �4"���� 1 #!�� ���
����&��&:.�#� !�4 �
��!�
��� �� ���&�& t-statistic ����-���0+�" +
 
���$�-���'��
��&�& (0 �������$�-���'�������� 0.10) #��

� � �����!��$�#�!
*�
��!����"� +
 
����
��
��������1!&�2�03�
�!��
2�$.�������*�

������+�$.�4 �
!-�������
! �4"�.�.���$���	� 

 ���#�������#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&���� (�lnREXTHB,USD) 

��
����
 4.4 ��� � AIC �!���4 �
��!������
���
��� ���
! �4"�!-������� 1 ��
 4 (�$���#��    

�����#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&���� 
�� ���
����&��&: �� ����                 

-0.042572, -0.1053, -0.20282 #!� -0.23501 ��
!-���� 7��
� ���
����&��&:
�� ���/�!� +
 ����!"�

����

�&)�������	
+�".�4 �
���
! �4"���� 1 ��
 4 (�$��� �� ���&�& t-statistic ����-���0+�"
�
��$�-���'��
��&�& 0 �������$�-���'�������� 0.01 .�4 �
!-�������
! �4"���� 3 #!� 4 ��
!-���� 

#��
� ������!��$�#�!
*�
�����#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&���� 
�1!
� �1!&�2�03�
�!��
2�$.�������*�
������+�$.�4 �
!-�������
! �4"���� 3 ��
 4 

 (�$���� ���
����&��&:*�
 ECt-1 *�
�
���#��%-�!�
�� ���� -0.002050 7��
����!"�
���
���������0�+�" (-1 < ECt-1 < 0) �
�$���
� � � ����
�!����!�����������$
������%����!$2��%�
��������*"��5 ��!$2��.���$�$�� (�$+
 
���$�-���'��
��&�&*�
� ���
����&��&:*�
 ECt-1 (0 

�������$�-���'�������� 0.10) � 
���+�"� ����#����!����"� #!������#!���!��$����#�"%�&
*�
�
&�
���!��!!�������)� ��
&���� 
����
��
����������� 1!&�2�03�
�!��
2�$.�������*�

������+�$ (�$+
 
���$�-���'��
��&�& 
 ����&����������
��
�����*�
��!����"� �����#!���!��$����#�"%�&
*�
�
&����!��!!���
����)� ��
&���� #!� 1!&�2�03�
�!��
2�$.�������*�
������+�$ .���$�$��
�1!
����������
��	 
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lnYGDP          =          -136.1722          -          7.0747lnTB          +         43.2144lnREXTHB,USD    (4.2) 

      (-0.047219)        (-0.062015)          (0.052053) 

 

�
�$���� : 1) ����!*.��
�!8� ( ) #��
� ���&�& t-statistic (two-tailed tests) 

 

 �����*�
��!����"����
�1!� �1!&�2�03�
�!��
2�$.�������*�
������+�$ %��
�
��� (4.2) ��� � � ���
����&��&:*�
���#����!����"� (lnTB) �� ���� -7.0747 (�$� �
��
����&��&:*�
���#����/�!� 7��
+
 ��/�+���
�

�&)��*�
#��%-�!�
 ���+�"������
+�" 
�! ����� �����!��$�#�!
*�
��!����"� � 
1!.��&���
��
���*"�
 ��� 1!&�2�03�
�!��

2�$.�������*�
������+�$ %��� ���
����&��&:���+�"�� ���� -7.0747 �
�$���
� � �
���
5!� �
��!����"���&�
*�	��"�$!� 1 %��-�.�" 
5!� �1!&�2�03�
�!��
2�$.�������*�
������+�$!�!

�"�$!� 7.0747 #!�+
 
���$�-���'��
��&�& (0 �������$�-���'�������� 0.10) #��
.�"��8�� � 
��!����"�+
 
����
��
��������1!&�2�03�
�!��
2�$.�������*�
������+�$.���$�$�� 

 �����*�
�����#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&���� ���
�1!� �
1!&�2�03�
�!��
2�$.�������*�
������+�$ %���
��� (4.2) ��� � � ���
����&��&:*�
���
#�������#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&���� (lnREXTHB,USD) �� ���� 

43.2144(�$� ���
����&��&:*�
���#����/���� 7��
��/�+���
�

�&)��*�
#��%-�!�
 ���+�"
������
+�" �! ����� �����!��$�#�!
*�
�����#!���!��$����#�"%�&
*�
�
&����!��!!�������)� �
�
&���� � 
1!.��&���
���$���� ��� 1!&�2�03�
�!��
2�$.�������*�
������+�$ %��� �
��
����&��&:���+�"�� ���� 43.2144 �
�$���
� � �
��������#!���!��$����#�"%�&
*�
�
&����!��!!���
����)� ��
&������&�
*�	��"�$!� 1 %��-�.�" 
5!� �1!&�2�03�
�!��
2�$.�������*�
������
+�$��&�
*�	��"�$!� 43.2144 #!�+
 
���$�-���'��
��&�& (0 �������$�-���'�������� 0.10) #��
.�"
��8�� � �����#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&����+
 
����
��
��������
1!&�2�03�
�!��
2�$.�������*�
������+�$.���$�$�� 
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4.3 �	
�������
�����	��������	���
����	���
���!�����	�!���������"#������������
$�%����+���%,��#�������� 
 
 ����������
*�	���� 2 *�	���� .���������� ARDL ��	���� � .�*�	������� 1 7��
��/�
���������

�&)��� �#��%-�!�
��������
����
��
���������$5 ����+
  (�$����-���0� ���&�&  
F – statistic %�+�"1!%������-���0� � F – statistic ��
#��
.�����
 4.5 7��
��0������#!���!��$�
� ��!�
*�
�
&����!�$�'����6�� ��
&���� �
����&%��0���	
#� 4 �
*�
!-�������
! �4"���� 1 ��
 4 

��� �� ���&�& F – statistic ����-���0+�"
�� ��5
�� �� ��&�,�*���*����$5  1 !-���� ��� ���!-�������

! �4"���� 4 %�
��
����9&����

�&)���!��+�" #!����+�"� ����#��
����
��
��������.������
���
! �4"���
�! �� � ����0����!-�������
! �4"���� 1 ��
 3 ��� �� ���&�& F – statistic ����-���0+�"
�
� ������-��� �� ��&�,�*���*�! �
 %�
+
 ��
����9&����

�&)���!��+�" 7��
���+�"� � ���#�����
�-��������� +
 
����
��
�������� #� �$ �
+��8��
����&����������
�����&��&2��
���� ���� 

*�	������� 2 ���
�������
�0� �(�$�&%��0�%�� Error Correction term (ECt-1) �����8��� Error 

Correction Model (ECM) ��
��������� ARDL 

 

��	����� 4.5 � ���&�& F – statistic �-���������&����������
����
��
��������*�
���#����!����"� 
�����#!���!��$�� ��!�
*�
�
&����!�$�'����6�� ��
&���� #!�����%�&'��&�(���
����)�&%*�

������+�$ (1!&�2�03�
�!��
2�$.�������*�
������+�$) 

!-�������
! �4"� (Lag Order) ����%�&'��&�(���
����)�&%*�
+�$ 

1 0.18098 

2 0.18520 

3 1.42700 

4      7.80570*** 

���
� : %������-���0 

�
�$���� : 1) *** #��
��$�-���'�������� 0.01 

 2) 0 �������$�-���' 0.01 � �*���*��&�,�*�
� ���&�& F – statistic   

  �$5 .�4 �
 4.385 – 5.615 
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 �����������
����
��
��������%��������
�0� �*�
 ECt-1 ���� ECM ��

��������� ARDL ��
����
��� 4.6 (�$��/����#��
��
�����&��!+��������������%����!$2��
*�
���#������"�
����������	
�
� +�"#�  1!&�2�03�
�!��
2�$.�������*�
������+�$ 

(lnYGDP) ��!����"� (lnTB) #!� �����#!���!��$�� ��!�
*�
�
&����!�$�'����6�� ��
&���� 

(lnNEXJPY) .�"�*"��5 ��!$2��.���$�$�� 7��
�����������*"��5 ��!$2��.���$�$��*�
#� !����#��
��	�.�"1!.�4 �
��$���!�*�
���
! �4"����#��� �
������+� 

 1!�������������*�
��!����"� #!������#!���!��$�� ��!�
*�
�
&����!�$�'����6�� �
�
&���� ���
�� �1!&�2�03�
�!��
2�$.�������*�
������+�$ ��/���
��	 
 ���#����!����"� (�lnTB) ��
����
 4.6 ��� � AIC �!���4 �
��!������
���
��� ���

! �4"�!-������� 1 (�$���#����!����"� 
�� ���
����&��&:�� ���� 0.021818 7��
� ���
����&��&:
�� ���/�
��� ����!"�
����

�&)�������	
+�".�4 �
���
! �4"���� 1 #� � ���
����&��&:.�#� !�4 �
��!�
��� �� ���&�& t-statistic ����-���0+�" +
 
���$�-���'��
��&�& (0 �������$�-���'�������� 0.10) #��

� � �����!��$�#�!
*�
��!����"�+
 
����
��
��������1!&�2�03�
�!��
2�$.�������*�

������+�$.�4 �
!-�������
! �4"�.�.���$���	� 

���#�������#!���!��$�� ��!�
*�
�
&����!�$�'����6�� ��
&���� (�lnNEXJPY) ��
����
 
4.6 ��� � AIC �!���4 �
��!������
���
��� ���
! �4"�!-������� 1 ��
 4 (�$���#�������#!���!��$�
� ��!�
*�
�
&����!�$�'����6�� ��
&���� 
�� ���
����&��&:�� ���� 0.058925, -0.12179, -0.17782

#!� -0.19886 ��
!-���� 7��
� ���
����&��&:
�� ���/���� ����!"�
����

�&)�������	
+�".�4 �

���
! �4"���� 1 #!���� �� ���&�& t-statistic ����-���0+�"
���$�-���'��
��&�& 0 �������$�-���'���
����� 0.10 .�4 �
!-�������
! �4"���� 2 #!� 0 �������$�-���'�������� 0.01 .�4 �
!-�������

! �4"���� 3 #!� 4 ��
!-���� #��
� � �����!��$�#�!
*�
�����#!���!��$�� ��!�
*�
�
&����!�$�
'����6�� ��
&���� 
�1!� �1!&�2�03�
�!��
2�$.�������*�
������+�$.�4 �
!-�������

! �4"���� 2 ��
 4 

(�$���� ���
����&��&:*�
 ECt-1 *�
�
���#��%-�!�
�� ���� 0.004908 7��
+
 ����!"�

������������0�+�" (-1 < ECt-1 < 0) �
�$���
� � � ����
�!����!�����������$
������%����!$2��
%�+
 ��������*"��5 ��!$2��.���$�$�� #!�+
 
���$�-���'��
��&�&*�
� ���
����&��&:*�
 ECt-1           

(0 �������$�-���'�������� 0.10) � 
���+�"� ����#����!����"� #!������#!���!��$�� ��!�
*�

�
&����!�$�'����6�� ��
&���� +
 
����
��
����������� 1!&�2�03�
�!��
2�$.�������*�

������+�$ 
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 ����&����������
��
�����*�
��!����"� �����#!���!��$�� ��!�
*�
�
&����!�$�'����6�
� ��
&���� #!� 1!&�2�03�
�!��
2�$.�������*�
������+�$ .���$�$��
�1!����������
��	 
 

lnYGDP        =         90.8663         -         4.4452lnTB         -          22.766lnNEXJPY                     (4.3) 

      (0.20325)      (-0.20533)    (-0.17225) 

 

�
�$���� : 1) ����!*.��
�!8� ( ) #��
� ���&�& t-statistic (two-tailed tests) 

 

 �����*�
��!����"����
�1!� �1!&�2�03�
�!��
2�$.�������*�
������+�$ %��
�
��� (4.3) ��� � � ���
����&��&:*�
���#����!����"� (lnTB) �� ���� -4.4452 (�$� �
��
����&��&:*�
���#����/�!� 7��
+
 ��/�+���
�

�&)��*�
#��%-�!�
 ���+�"������
+�" 
�! ����� �����!��$�#�!
*�
��!����"� � 
1!.��&���
��
���*"�
 ��� 1!&�2�03�
�!��

2�$.�������*�
������+�$ %��� ���
����&��&:���+�"�� ���� -4.4452 �
�$���
� � �
���
5!� �
��!����"���&�
*�	��"�$!� 1 %��-�.�" 
5!� �1!&�2�03�
�!��
2�$.�������*�
������+�$!�!

�"�$!� 4.4452 (�$+
 
���$�-���'��
��&�& (0 �������$�-���'�������� 0.10) #��
.�"��8�� � 
��!����"�+
 
����
��
��������1!&�2�03�
�!��
2�$.�������*�
������+�$.���$�$�� 

 �����*�
�����#!���!��$�� ��!�
*�
�
&����!�$�'����6�� ��
&���� ���
�1!� �1!&�2�03�

�!��
2�$.�������*�
������+�$ %���
��� (4.3) ��� � � ���
����&��&:*�
���#�������
#!���!��$�� ��!�
*�
�
&����!�$�'����6�� ��
&���� (lnNEXJPY) �� ���� -22.766 (�$� �
��
����&��&:*�
���#����/�!� 7��
+
 ��/�+���
�

�&)��*�
#��%-�!�
 ���+�"������
+�" 
�! ����� �����!��$�#�!
*�
�����#!���!��$����� ��!�
*�
�
&����!�$�'����6�� ��
&���� � 
1!.�
�&���
��
���*"�
 ��� 1!&�2�03�
�!��
2�$.�������*�
������+�$ %��� ���
����&��&:���+�"
�� ���� -22.766 �
�$���
� � �
��������#!���!��$�� ��!�
*�
�
&����!�$�'����6�� ��
&���� 

��&�
*�	��"�$!� 1 %��-�.�" 
5!� �1!&�2�03�
�!��
2�$.�������*�
������+�$!�!
�"�$!� 

22.766 (�$+
 
���$�-���'��
��&�& (0 �������$�-���'�������� 0.10) #��
.�"��8�� � �����
#!���!��$�� ��!�
*�
�
&����!�$�'����6�� ��
&���� +
 
����
��
��������1!&�2�03�
�!��

2�$.�������*�
������+�$.���$�$�� 
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4.4 �	
�������
�����	��������	���
����	���
���!�����	�!������������!�)*	���������
$�%����+���%,��#�������� 
 
 ����������
*�	���� 2 *�	���� .���������� ARDL ��	���� � .�*�	������� 1 7��
��/�
���������

�&)��� �#��%-�!�
��������
����
��
���������$5 ����+
  (�$����-���0� ���&�&  
F – statistic %�+�"1!%������-���0� � F – statistic ��
#��
.�����
 4.7 7��
��0������#!���!��$�
���#�"%�&
*�
�
&����!�$�'����6�� ��
&���� �
����&%��0���	
#� 4 �
*�
!-�������
! �4"���� 1 ��
 4 

��� �� ���&�& F – statistic ����-���0+�"
�� ��5
�� �� ��&�,�*���*����$5  1 !-���� ��� ���!-�������

! �4"���� 4 %�
��
����9&����

�&)���!��+�" #!����+�"� ����#��
����
��
��������.������
���
! �4"���
�! �� � ����0����!-�������
! �4"���� 1 ��
 3 ��� �� ���&�& F – statistic ����-���0+�"
�
� ������-��� �� ��&�,�*���*�! �
 %�
+
 ��
����9&����

�&)���!��+�" 7��
���+�"� � ���#�����
�-��������� +
 
����
��
�������� #� �$ �
+��8��
����&����������
�����&��&2��
���� ���� 

*�	������� 2 ���
�������
�0� �(�$�&%��0�%�� Error Correction term (ECt-1) �����8��� Error 

Correction Model (ECM) ��
��������� ARDL 
 
��	����� 4.7 � ���&�& F – statistic �-���������&����������
����
��
��������*�
���#����!����"� 
�����#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&���� #!�����%�&'��&�(���
����)�&%*�

������+�$ (1!&�2�03�
�!��
2�$.�������*�
������+�$) 

!-�������
! �4"� (Lag Order) ����%�&'��&�(���
����)�&%*�
+�$ 

1 0.45525 

2 0.11889 

3 1.45080 

4      7.68150*** 

���
� : %������-���0 

�
�$���� : 1) *** #��
��$�-���'�������� 0.01 

 2) 0 �������$�-���' 0.01 � �*���*��&�,�*�
� ���&�& F – statistic   

  �$5 .�4 �
 4.385 – 5.615 
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 �����������
����
��
��������%��������
�0� �*�
 ECt-1 ���� ECM ��

��������� ARDL ��
����
��� 4.8 (�$��/����#��
��
�����&��!+��������������%����!$2��
*�
���#������"�
����������	
�
� +�"#�  1!&�2�03�
�!��
2�$.�������*�
������+�$ 

(lnYGDP) ��!����"� (lnTB) #!� �����#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&���� 

(lnREXTHB,JPY) .�"�*"��5 ��!$2��.���$�$�� 7��
�����������*"��5 ��!$2��.���$�$��*�
#� !����
#����	�.�"1!.�4 �
��$���!�*�
���
! �4"����#��� �
������+� 

 1!�������������*�
��!����"� #!������#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� �
�
&���� ���
�� �1!&�2�03�
�!��
2�$.�������*�
������+�$ ��/���
��	 
 ���#����!����"� (�lnTB) ��
����
 4.8 ��� � AIC �!���4 �
��!������
���
��� ���

! �4"�!-������� 1 ��
 3 (�$���#����!����"� 
�� ���
����&��&:�� ���� 0.019646, -0.11279 #!�            

-0.12615 7��
� ���
����&��&:
�� ���/���� ����!"�
����

�&)�������	
+�".�4 �
���
! �4"���� 1 (�$
� ���
����&��&:.�#� !�4 �
��!���� �� ���&�& t-statistic ����-���0+�" 
���$�-���'��
��&�& 0 �����
��$�-���'�������� 0.05 .�4 �
!-�������
! �4"���� 3 #��
� � �����!��$�#�!
*�
��!����"�
�
���
��
��������1!&�2�03�
�!��
2�$.�������*�
������+�$.�4 �
!-�������
! �4"���� 3 

���#�������#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&���� (�lnREXTHB,JPY) ��

����
 4.8 ��� � AIC �!���4 �
��!������
���
��� ���
! �4"�!-������� 1 ��
 4 (�$���#�������
#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&���� 
�� ���
����&��&:�� ���� 0.047684, -0.142,     

-0.1343 #!� -0.19137 ��
!-���� 7��
� ���
����&��&:
�� ���/���� ����!"�
����

�&)�������	
+�"
.�4 �
���
! �4"���� 1 #!���� �� ���&�& t-statistic ����-���0+�"
���$�-���'��
��&�& 0 �����
��$�-���'�������� 0.10 .�4 �
!-�������
! �4"���� 2 #!� 3 0 �������$�-���'�������� 0.05 .�4 �

!-�������
! �4"���� 4 ��
!-���� #��
� � �����!��$�#�!
*�
�����#!���!��$����#�"%�&
*�
�
&�
���!�$�'����6�� ��
&���� 
�1!� �1!&�2�03�
�!��
2�$.�������*�
������+�$.�4 �
!-����
���
! �4"���� 2 ��
 4 

 (�$���� ���
����&��&:*�
 ECt-1 *�
�
���#��%-�!�
�� ���� 0.1295 7��
+
 ����!"�
������
������0�+�" (-1 < ECt-1 < 0) �
�$���
� � � ����
�!����!�����������$
������%����!$2��%�+
 
��������*"��5 ��!$2��.���$�$�� #� 
���$�-���'��
��&�&*�
� ���
����&��&:*�
 ECt-1 (0 �����
��$�-���'�������� 0.10) � 
���+�"� ����#����!����"� #!������#!���!��$����#�"%�&
*�
�
&����!
�$�'����6�� ��
&���� +
 
����
��
����������� 1!&�2�03�
�!��
2�$.�������*�
������+�$ 

(�$
���$�-���'��
��&�& 
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 ����&����������
��
�����*�
��!����"� �����#!���!��$����#�"%�&
*�
�
&����!�$�'����6�
� ��
&���� #!� 1!&�2�03�
�!��
2�$.�������*�
������+�$ .���$�$��
�1!����������
��	 
 

lnYGDP         =         17.4286         -         1.1453lnTB         -         1.0593lnREXTHB,JPY                (4.4) 

              (20.2311***)          (-2.7030**)            (-4.2682***) 

 

�
�$���� : 1) ����!*.��
�!8� ( ) #��
� ���&�& t-statistic (two-tailed tests) 

 2) *** #��
��$�-���'�������� 0.01 

 3) **   #��
��$�-���'�������� 0.05 

 
 �����*�
��!����"����
�1!� �1!&�2�03�
�!��
2�$.�������*�
������+�$ %��
�
��� (4.4) ��� � � ���
����&��&:*�
���#����!����"� (lnTB) �� ���� -1.1453 (�$� �
��
����&��&:*�
���#����/�!� 7��
��/�+
 +���
�

�&)��*�
#��%-�!�
 ���+�"������
+�" 
�! ����� �����!��$�#�!
*�
��!����"� � 
1!.��&���
��
���*"�
��� 1!&�2�03�
�!��

2�$.�������*�
������+�$ %��� ���
����&��&:���+�"�� ���� -1.1453 �
�$���
� � �
���
5!� �
��!����"���&�
*�	��"�$!� 1 %��-�.�" 
5!� �1!&�2�03�
�!��
2�$.�������*�
������+�$!�!

�"�$!� 1.1453 (�$
���$�-���'��
��&�& 0 �������$�-���'�������� 0.05 #��
.�"��8�� � ��!����"�
�
���
��
��������1!&�2�03�
�!��
2�$.�������*�
������+�$.���$�$�� 
 �����*�
�����#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&�������
�1!� �1!&�2�03�

�!��
2�$.�������*�
������+�$ %���
��� (4.4) ��� � � ���
����&��&:*�
���#�������
#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&���� (lnREXTHB,JPY) �� ���� -1.0593 (�$� �
��
����&��&:*�
���#����/�!� 7��
��/�+
 +���
�

�&)��*�
#��%-�!�
 ���+�"������
+�" 
�! ����� �����!��$�#�!
*�
�����#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&���� � 
1!.�
�&���
��
���*"�
��� 1!&�2�03�
�!��
2�$.�������*�
������+�$ %��� ���
����&��&:���+�"
�� ���� -1.0593 �
�$���
� � �
��������#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&���� 

��&�
*�	��"�$!� 1 %��-�.�" 
5!� �1!&�2�03�
�!��
2�$.�������*�
������+�$!�!
�"�$!� 

1.0593 (�$
���$�-���'��
��&�& 0 �������$�-���'�������� 0.01 #��
.�"��8�� � �����#!���!��$����
#�"%�&
*�
�
&����!�$�'����6�� ��
&���� 
����
��
��������1!&�2�03�
�!��
2�$.�������*�

������+�$.���$�$�� 
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4.5 �	
�&�-���������%�$�'�		�!�����	�!���������"#������������$�%�&����	�$'	�(�#�����
��� 
 

����������
*�	���� 2 *�	���� .���������� ARDL ��	���� � .�*�	������� 1 7��
��/�
���������

�&)��� �#��%-�!�
��������
����
��
���������$5 ����+
  (�$����-���0� ���&�&  
F – statistic %�+�"1!%������-���0� � F – statistic ��
#��
.�����
 4.9 7��
��0�*�
�����
#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&���� �
����&%��0���	
#� 4 �
*�
!-�������

! �4"���� 1 ��
 12 ��� �� ���&�& F – statistic ����-���0+�"
�� ��5
�� �� ��&�,�*���*�! �
#� ��-��� �� �
�&�,�*���*����$5  1 !-���� ��� ���!-�������
! �4"���� 2 %�
+
 ��
�������1!+�" � ����0����!-����
���
! �4"���� 1 #!� 3 ��
 12 ��� �� ���&�& F – statistic ����-���0+�"
�� ������-��� �� ��&�,�*���*�
! �
 %�
+
 ��
����9&����

�&)���!��+�" 7��
���+�"� � ���#������-���������+
 
����
��
�����
��� #� �$ �
+��8��
����&����������
�����&��&2��
���� ���� *�	������� 2 ���
�������
�0� �(�$
�&%��0�%�� Error Correction term (ECt-1) �����8��� Error Correction Model (ECM) ��

��������� ARDL 
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��	����� 4.9 � ���&�& F – statistic �-���������&����������
����
��
��������*�
���#����!����"� 
�����#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&���� #!�����%�&'��&�(���
����)�&%
*�
������+�$ (��4�1!1!&����������
) 

!-�������
! �4"� (Lag Order) ����%�&'��&�(���
����)�&%*�
+�$ 

1 0.64113 

2   3.31020nc 

3 2.18280 

4 1.91710 

5 1.18930 

6 1.20030 

7 1.01790 

8 0.86359 

9 1.03740 

10 1.01290 

11 1.83050 

12 2.16870 

 ���
� : %������-���0 

�
�$���� : 1) * #��
��$�-���'�������� 0.10 

 2) nc +
 ��
�������1!+�" 
 3) 0 �������$�-���' 0.10 � �*���*��&�,�*�
� ���&�& F – statistic   

  �$5 .�4 �
 2.711 – 3.800 

 

 �����������
����
��
��������%��������
�0� �*�
 ECt-1 ���� ECM ��

��������� ARDL ��
����
��� 4.10 (�$��/����#��
��
�����&��!+��������������%����!$
2��*�
���#������"�
����������	
�
� +�"#�  ��4��1!1!&����������
 (lnYMPI) ��!����"� (lnTB) 

#!� �����#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&���� (lnNEXUSD) .�"�*"��5 ��!$2��
.���$�$�� 7��
�����������*"��5 ��!$2��.���$�$��*�
#� !����#�� ��	�.�"1!.�4 �
��$���!�
*�
���
! �4"����#��� �
������+� 

 1!�������������*�
��!����"� #!������#!���!��$�� ��!�
*�
�
&����!��!!���
����)� ��
&���� ���
�� ���4��1!1!&����������
 ��/���
��	 
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 ���#����!����"� (�lnTB) ��
����
 4.10 ��� � AIC �!���4 �
��!������
���
��� ���

! �4"�!-������� 1 (�$���#����!����"� 
�� ���
����&��&:�� ���� 0.018495 7��
� ���
����&��&:
�� ���/�
��� ����!"�
����

�&)�������	
+�".�4 �
���
! �4"���� 1 (�$��� �� ���&�& t-statistic ����-���0+�" 
+
 
���$�-���'��
��&�& (0 �������$�-���'�������� 0.10) #��
� � �����!��$�#�!
*�
��!����"�+
 

����
��
����������4��1!1!&����������
 !-�������
! �4"�.�.���$���	� 

 ���#�������#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&���� (�lnNEXUSD) ��

����
 4.10 ��� � AIC �!���4 �
��!������
���
��� ���
! �4"�!-������� 1 ��
 12 (�$���#�������
#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&���� 
�� ���
����&��&:�� ���� 0.033217,          

-0.090231, 0.041212, -0.10966, -0.22989, -0.015321, -0.017154, -0.088363, -0.42508, 0.014201, 

-0.14585 #!� -0.22027 ��
!-���� 7��
� ���
����&��&:���
�� ���/���� ����!"�
����

�&)�������	

+�".�4 �
���
! �4"���� 1, 3 #!� 10 � ��� ���
����&��&:���
�� ���/�!� +
 ����!"�
����

�&)��
�����	
+�".�4 �
���
! �4"���� 2, 4 – 9, 11 #!� 12 (�$��� �� ���&�& t-statistic ����-���0+�"
���$�-���'
��
��&�& 0 �������$�-���'�������� 0.01 .�4 �
!-�������
! �4"���� 9 #!� 0 �������$�-���'�������� 

0.10 .�4 �
!-�������
! �4"���� 12 #��
� ������!��$�#�!
*�
�����#!���!��$�� ��!�
*�
�
&�
���!��!!�������)� ��
&���� 
�1!� ���4��1!1!&����������
 !-�������
! �4"���� 9 #!� 12 

 (�$���� ���
����&��&:*�
 ECt-1 *�
�
���#��%-�!�
�� ���� 0.007581 7��
+
 ����!"�

������������0�+�" (-1 < ECt-1 < 0) �
�$���
� � � ����
�!����!�����������$
������%����!$2��
%�+
 ��������*"��5 ��!$2��.���$�$�� #!�+
 
���$�-���'��
��&�&*�
� ���
����&��&:*�
 ECt-1 

(0 �������$�-���'�������� 0.10) � 
���+�"� ����#����!����"� #!������#!���!��$�� ��!�
*�

�
&����!��!!�������)� ��
&���� +
 
����
��
����������� ��4��1!1!&����������
 

 

 ����&����������
��
�����*�
��!����"� �����#!���!��$�� ��!�
*�
�
&����!��!!���
����)� ��
&���� #!� ��4��1!1!&����������
 .���$�$��
�1!����������
��	 
 

lnYMPI        =        50.2252          -        14.2965lnTB        -        12.8014lnNEXUSD                     (4.5) 

   (-0.37602)  (-0.37355) (0.41734) 

 

�
�$���� : 1) ����!*.��
�!8� ( ) #��
� ���&�& t-statistic (two-tailed tests) 
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 �����*�
��!����"����
�1!� ���4��1!1!&����������
 %���
��� (4.1) ��� � � �
��
����&��&:*�
���#����!����"� (lnTB) �� ���� -14.2965 (�$� ���
����&��&:*�
���#����/�!� 

7��
+
 ��/�+���
�

�&)��*�
#��%-�!�
 ���+�"������
+�" �! ����� �����!��$�#�!
*�

��!����"� � 
1!.��&���
��
���*"�
 ��� ��4��1!1!&����������
 %��� ���
����&��&:���+�"�� ���� 

-14.2965 �
�$���
� � �
���
5!� ���!����"���&�
*�	��"�$!� 1 %��-�.�" ��4��1!1!&����������
 

!�!
�"�$!� 14.2965 #!�+
 
���$�-���'��
��&�& (0 �������$�-���'�������� 0.10) #��
.�"��8�� � 
��!����"�+
 
����
��
����������4��1!1!&����������
 .���$�$�� 

 �����*�
�����#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&���� ���
�1!� ���4��
1!1!&����������
 %���
��� (4.1) ��� � � ���
����&��&:*�
���#�������#!���!��$�� ��!�

*�
�
&����!��!!�������)� ��
&���� (lnNEXUSD) �� ���� -12.8014 (�$� ���
����&��&:*�
���
#����/�!� 7��
+
 ��/�+���
�

�&)��*�
#��%-�!�
 ���+�"������
+�" �! ����� �����!��$�#�!

*�
�����#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&���� � 
1!.��&���
��
���*"�
 

��� ��4��1!1!&����������
 %��� ���
����&��&:���+�"�� ���� -12.8014 �
�$���
� � �
��������
#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&������&�
*�	��"�$!� 1 %��-�.�" 
5!� ���4��
1!1!&����������
 !�!
�"�$!� 12.8014 #!�+
 
���$�-���'��
��&�& (0 �������$�-���'�������� 

0.10) #��
.�"��8�� � �����#!���!��$�� ��!�
*�
�
&����!��!!�������)� ��
&����+
 
�
���
��
����������4��1!1!&����������
 .���$�$�� 

 
 
 
 
 
 
 
 
 
 
 
 
 



 

��	
���

�� 4.1
0 �
���

��

�
0�
 ��
�
�
��
�&�
�&:*
�

���
#�
��
�	
�

�
�"�
$�
&���
�� 

Er
ro

r C
or

re
ct

io
n 
*�

#
��
%-�!

�

 A

R
D

L 
(�
$.4

"��0
3� 

A
IC

 (A
ka

ik
e 

In
fo

rm
at

io
n 

C
rit

er
io

n)
 ��
0��
�4�
�1!
1!
&��
���
��
��
�

#!
��
���
�#!

���
!��$
��
 ��
!�

*
�

�
&�
��
�!�
�!
!�
���
��
�)�
 ��

&��
��

 

���
#�
� (

V
ar

ia
bl

e)
 

!-�
���
��
�

! �
4"�

 (L
ag

 O
rd

er
) 

  

1 
2 

3 
4 

5 
6 

�l
nY

M
PI

 
-0

.6
18

00
0 

-0
.1

55
72

0 
0.

05
81

52
 

-0
.8

24
94

 
-0

.1
60

07
 

(-
7.

29
82

**
*)

 
(-

1.
67

69
*)

 
-0

.6
06

24
 

(-
0.

83
95

4)
 

(-
1.

62
97

) 

�l
nT

B
 

0.
01

84
95

 

(0
.3

14
6)

 

�l
nN

EX
U

SD
 

0.
03

32
17

 
-0

.0
90

23
1 

0.
04

12
12

 
-0

.1
09

66
0 

-0
.2

29
89

 
-0

.0
15

32
1 

(0
.1

49
92

) 
(-

0.
54

46
8)

 
(0

.2
56

26
) 

(-
0.

68
77

4)
 

(-
1.

41
28

) 
(-

0.
10

65
7)

 

C
on

st
an

t 
-0

.3
80

69
0 

(-
1.

13
88

) 

EC
t-1

 
0.

00
75

81
 

(0
.3

20
53

) 

     

�



 

��	
���

�� 4.1
0 (�

 �) 

���
#�
� (

V
ar

ia
bl

e)
 

!-�
���
��
�

! �
4"�

 (L
ag

 O
rd

er
) 

7 
8 

9 
10

 
11

 
12

 

�l
nY

M
PI

 
-0

.1
23

27
 

-0
.0

95
07

3 
-0

.0
25

6 
0.

04
92

33
 

-0
.2

05
16

 
-0

.4
86

99
 

(-
0.

97
87

9)
 

(-
0.

97
87

9)
 

(-
0.

25
72

8)
 

-0
.4

97
48

 
(-

2.
09

82
**

) 
(-

5.
89

32
**

*)
 

�l
nT

B
 

�l
nN

EX
U

SD
 

-0
.0

17
15

4 
-0

.0
88

36
3 

-0
.4

25
08

 
0.

01
42

01
 

-0
.1

45
85

 
-0

.2
20

27
 

(-
0.

11
98

6)
 

(-
0.

66
86

2)
 

(-
3.

20
98

**
*)

 
(0

.1
06

08
) 

(-
1.

08
34

) 
(-

1.
72

43
*)

 

C
on

st
an

t 

EC
t-1

 

���

� : 
%��

��
��
-��
�0

 

�

�$�
��
� : 1

) �
���!
*.
��

�!
8� (

 ) 
#�
�

� �
��
&�& t

-s
ta

tis
tic

 (t
w

o-
ta

ile
d 

te
st

s)
 

 
2)

 *
**

 #�
�

��$
�-�
��'
����
��
�� 0

.0
1 

 
3)

 *
* 

  #
��

�
�$�
-��
�'�
����
���

 0
.0

5 

 
4)

 *
   

  #
��

�
�$�
-��
�'�
����
���

 0
.1

0 

�

�



78 

4.6 �	
�&�-���������%�$�'�		�!�����	�!������������!�)*	���������$�%�&����	�$'	�(�#�
������� 
 
 ����������
*�	���� 2 *�	���� .���������� ARDL ��	���� � .�*�	������� 1 7��
��/�
���������

�&)��� �#��%-�!�
��������
����
��
���������$5 ����+
  (�$����-���0� ���&�&  
F – statistic %�+�"1!%������-���0� � F – statistic ��
#��
.�����
 4.11 7��
��0�*�
�����
#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&���� �
����&%��0���	
#� 4 �
*�
!-�������

! �4"���� 1 ��
 12 ��� �� ���&�& F – statistic ����-���0+�"
�� ��5
�� �� ��&�,�*���*�! �
#� ��-��� �� �
�&�,�*���*����$5  1 !-���� ��� ���!-�������
! �4"���� 2 %�
+
 ��
�������1!+�" � ����0����!-����
���
! �4"���� 1 #!� 3 ��
 12 ��� �� ���&�& F – statistic ����-���0+�"
�� ������-��� �� ��&�,�*���*�
! �
 %�
+
 ��
����9&����

�&)���!��+�" 7��
���+�"� � ���#������-���������+
 
����
��
�����
��� #� �$ �
+��8��
����&����������
�����&��&2��
���� ���� *�	������� 2 ���
�������
�0� �(�$
�&%��0�%�� Error Correction term (ECt-1) �����8��� Error Correction Model (ECM) ��

��������� ARDL 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



79 

��	����� 4.11 � ���&�& F – statistic �-���������&����������
����
��
��������*�
���#����!����"� 
�����#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&���� #!�����%�&'��&�(���
����)�&%
*�
������+�$ (��4��1!1!&����������
) 

!-�������
! �4"� (Lag Order) ����%�&'��&�(���
����)�&%*�
+�$ 

1 0.66014 

2   3.45670nc 

3 2.31850 

4 2.08930 

5 1.34940 

6 1.36680 

7 1.13760 

8 0.91406 

9 1.09400 

10 1.05950 

11 1.89130 

12 2.46710 

�
�$���� : 1) * #��
��$�-���'�������� 0.10 

 2) nc +
 ��
�������1!+�" 
 3) 0 �������$�-���' 0.10 � �*���*��&�,�*�
� ���&�& F – statistic   

  �$5 .�4 �
 2.711 – 3.800 

 
 �����������
����
��
��������%��������
�0� �*�
 ECt-1 ���� ECM ��

��������� ARDL ��
����
��� 4.12 (�$��/����#��
��
�����&��!+��������������%��       

��!$2��*�
���#������"�
����������	
�
� +�"#�  ��4��1!1!&����������
 (lnYMPI) ��!����"� 
(lnTB) #!� �����#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&���� (lnREXTHB,USD) .�"�*"�
�5 ��!$2��.���$�$�� 7��
�����������*"��5 ��!$2��.���$�$��*�
#� !����#�� ��	�.�"1!.�4 �

��$���!�*�
���
! �4"����#��� �
������+� 

 1!�������������*�
��!����"� #!������#!���!��$����#�"%�&
*�
�
&����!��!!���
����)� ��
&���� ���
�� ���4��1!1!&����������
 ��/���
��	 



80 

 ���#����!����"� (�lnTB) ��
����
 4.12 ��� � AIC �!���4 �
��!������
���
��� ���

! �4"�!-������� 1 (�$���#����!����"� 
�� ���
����&��&:�� ���� 0.02486 7��
� ���
����&��&:
�� ���/�
��� 7��
����!"�
����

�&)�������	
+�".�4 �
���
! �4"���� 1 #!�� ���
����&��&:.�#� !�4 �
��!�
��� �� ���&�& t-statistic ����-���0+�" +
 
���$�-���'��
��&�& (0 �������$�-���'�������� 0.10) #��

� � �����!��$�#�!
*�
��!����"� +
 
����
��
����������4��1!1!&����������
 .�4 �
!-����
���
! �4"�.�.���$���	� 

 ���#�������#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&���� (�lnREXTHB,USD) 

��
����
 4.12 ��� � AIC �!���4 �
��!������
���
��� ���
! �4"�!-������� 1 ��
 12 (�$���#��    

�����#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&���� 
�� ���
����&��&: �� ����                 

0.093775, -0.12954, 0.096319, -0.19893, -0.19193, -0.046694, 0.0006891, -0.052092, -0.42122, 

0.039805, -0.16877 #!� -0.1887 ��
!-���� 7��
� ���
����&��&:
�� ���/���� ����!"�
���
�

�&)�������	
+�".�4 �
���
! �4"���� 1, 3, 7 #!� 10 � ��� ���
����&��&:���
�� ���/�!� +
 
����!"�
����

�&)�������	
+�".�4 �
���
! �4"���� 2, 4 – 6, 8, 9, 11 #!� 12 (�$��� �� ���&�&      
t-statistic ����-���0+�"
���$�-���'��
��&�& 0 �������$�-���'�������� 0.01 .�4 �
!-�������
! �4"���� 
9 #��
� ������!��$�#�!
*�
�����#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&���� 
�
1!� ���4��1!1!&����������
 .�4 �
!-�������
! �4"���� 9 

 (�$���� ���
����&��&:*�
 ECt-1 *�
�
���#��%-�!�
�� ���� 0.010302 7��
+
 ����!"�

������������0�+�" (-1 < ECt-1 < 0) �
�$���
� � � ����
�!����!�����������$
������%����!$2��
%�+
 ��������*"��5 ��!$2��.���$�$�� #!�+
 
���$�-���'��
��&�&*�
� ���
����&��&:*�
 ECt-1 

(0 �������$�-���'�������� 0.10) � 
���+�"� ����#����!����"� #!������#!���!��$����#�"%�&
*�

�
&����!��!!�������)� ��
&���� +
 
����
��
����������� ��4��1!1!&����������
 

 ����&����������
��
�����*�
��!����"� �����#!���!��$����#�"%�&
*�
�
&����!��!!���
����)� ��
&���� #!� ��4��1!1!&����������
 .���$�$��
�1!����������
��	 
 

lnYMPI          =          38.7505          -          11.9617lnTB          -         9.5288lnREXTHB,USD         (4.6) 

     (0.64213)     (-0.58022)      (-0.55631) 

 

�
�$���� : 1) ����!*.��
�!8� ( ) #��
� ���&�& t-statistic (two-tailed tests) 
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 �����*�
��!����"����
�1!� ���4��1!1!&����������
 %���
��� (4.6) ��� � � �
��
����&��&:*�
���#����!����"� (lnTB) �� ���� -11.9617 (�$� ���
����&��&:*�
���#����/�!� 

7��
+
 ��/�+���
�

�&)��*�
#��%-�!�
 ���+�"������
+�" �! ����� �����!��$�#�!
*�

��!����"� � 
1!.��&���
��
���*"�
 ��� ��4��1!1!&����������
 %��� ���
����&��&:���+�"�� ���� 

-11.9617 �
�$���
� � �
���
5!� ���!����"���&�
*�	��"�$!� 1 %��-�.�" ��4��1!1!&����������

!�!
�"�$!� 11.9617 #!�+
 
���$�-���'��
��&�& (0 �������$�-���'�������� 0.10) #��
.�"��8�� � 
��!����"�+
 
����
��
����������4��1!1!&����������
.���$�$�� 

 �����*�
�����#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&���� ���
�1!� �
��4��1!1!&����������
 %���
��� (4.6) ��� � � ���
����&��&:*�
���#�������#!���!��$����
#�"%�&
*�
�
&����!��!!�������)� ��
&���� (lnREXTHB,USD) �� ���� -9.5288 (�$� ���
����&��&:
*�
���#����/���� 7��
+
 ��/�+���
�

�&)��*�
#��%-�!�
 ���+�"������
+�" �! ����� ���
��!��$�#�!
*�
�����#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&���� � 
1!.��&���

��
���*"�
 ��� ��4��1!1!&����������
 %��� ���
����&��&:���+�"�� ���� -9.5288 �
�$���
� � 
�
��������#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&������&�
*�	��"�$!� 1 %��-�.�" ��4��
1!1!&����������
 !�!
�"�$!� 9.5288 #!�+
 
���$�-���'��
��&�& (0 �������$�-���'�������� 

0.10) #��
.�"��8�� � �����#!���!��$����#�"%�&
*�
�
&����!��!!�������)� ��
&����+
 
�
���
��
�������� ��4��1!1!&����������
 .���$�$�� 
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4.7 �	
�&�-���������%�$�'�		�!�����	�!���������"#������������$�%����+���%,��#�������� 
 
 ����������
*�	���� 2 *�	���� .���������� ARDL ��	���� � .�*�	������� 1 7��
��/�
���������

�&)��� �#��%-�!�
��������
����
��
���������$5 ����+
  (�$����-���0� ���&�&  
F – statistic %�+�"1!%������-���0� � F – statistic ��
#��
.�����
 4.13 7��
��0������
#!���!��$�� ��!�
*�
�
&����!�$�'����6�� ��
&���� �
����&%��0���	
#� 4 �
*�
!-�������
! �4"���� 
1 ��
 12 ��� �� ���&�& F – statistic ����-���0+�"
�� ��5
�� �� ��&�,�*���*����$5  1 !-���� ��� ���
!-�������
! �4"���� 12 %�
��
����9&����

�&)���!��+�" #!����+�"� ����#��
����
��
�����
���.���������
! �4"���
�! �� � ����0����!-�������
! �4"���� 1 ��
 11 ��� �� ���&�& F – statistic ���
�-���0+�"
�� ������-��� �� ��&�,�*���*�! �
 %�
+
 ��
����9&����

�&)���!��+�" 7��
���+�"� � 
���#������-��������� +
 
����
��
�������� #� �$ �
+��8��
����&����������
�����&��&2��
���� �
��� *�	������� 2 ���
�������
�0� �(�$�&%��0�%�� Error Correction term (ECt-1) �����8��� Error 

Correction Model (ECM) ��
��������� ARDL 
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��	����� 4.13 � ���&�& F – statistic �-���������&����������
����
��
��������*�
���#����!����"� 
�����#!���!��$�� ��!�
*�
�
&����!�$�'����6�� ��
&���� #!�����%�&'��&�(���
����)�&%*�

������+�$ (��4��1!1!&����������
) 

!-�������
! �4"� (Lag Order) ����%�&'��&�(���
����)�&%*�
+�$ 

1 0.73571 

2 3.04570 

3 2.11080 

4 1.99680 

5 1.29770 

6 1.35270 

7 1.55010 

8 1.41190 

9 2.00860 

10 1.84350 

11 1.80650 

12    4.87580** 

���
� : %������-���0 

�
�$���� : 1) **  #��
��$�-���'�������� 0.05 

 2) 0 �������$�-���' 0.05 � �*���*��&�,�*�
� ���&�& F – statistic   

  �$5 .�4 �
 3.219 – 4.378 

 

 �����������
����
��
��������%��������
�0� �*�
 ECt-1 ���� ECM ��

��������� ARDL ��
����
��� 4.14 (�$��/����#��
��
�����&��!+��������������%��       

��!$2��*�
���#������"�
����������	
�
� +�"#�  ��4��1!1!&����������
 (lnYMPI) ��!����"� 
(lnTB) #!� �����#!���!��$�� ��!�
*�
�
&����!�$�'����6�� ��
&���� (lnNEXJPY) .�"�*"��5 ��!$
2��.���$�$�� 7��
�����������*"��5 ��!$2��.���$�$��*�
#� !����#����	�.�"1!.�4 �

��$���!�*�
���
! �4"����#��� �
������+� 

 1!�������������*�
��!����"� #!������#!���!��$�� ��!�
*�
�
&����!�$�'����6�� �
�
&���� ���
�� ���4��1!1!&����������
 ��/���
��	 
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 ���#����!����"� (�lnTB) ��
����
 4.14 ��� � AIC �!���4 �
��!������
���
��� ���

! �4"�!-������� 1 (�$���#����!����"� 
�� ���
����&��&:�� ���� 0.085868 7��
� ���
����&��&:
�� ���/�
��� ����!"�
����

�&)�������	
+�".�4 �
���
! �4"���� 1 #� � ���
����&��&:.�#� !�4 �
��!�
��� �� ���&�& t-statistic ����-���0+�" +
 
���$�-���'��
��&�& (0 �������$�-���'�������� 0.10) #��

� � �����!��$�#�!
*�
��!����"�+
 
����
��
����������4��1!1!&����������
 .�4 �
!-����
���
! �4"�.�.���$���	� 

���#�������#!���!��$�� ��!�
*�
�
&����!�$�'����6�� ��
&���� (�lnNEXJPY) ��
����
 
4.14 ��� � AIC �!���4 �
��!������
���
��� ���
! �4"�!-������� 1 ��
 12 (�$���#�������
#!���!��$�� ��!�
*�
�
&����!�$�'����6�� ��
&���� 
�� ���
����&��&:�� ���� 0.12403, -0.30297, 

0.069846, -1.6969, -0.21725, 0.098643, 0.048676, -0.11344, -0.39906, 0.099393, -0.21005 #!�   

-0.21564 ��
!-���� 7��
� ���
����&��&:���
�� ���/���� ����!"�
����

�&)�������	
+�".�4 �
���

! �4"���� 1, 3, 6 ,7 #!� 10  � ��� ���
����&��&:���
�� ���/�!� +
 ����!"�
����

�&)�������	
+�"
.�4 �
���
! �4"���� 2, 4, 5, 8, 9, 11 #!� 12 (�$��� �� ���&�& t-statistic ����-���0+�"
���$�-���'
��
��&�& 0 �������$�-���'�������� 0.05 .�4 �
!-�������
! �4"���� 2 0 �������$�-���'�������� 0.01 

.�4 �
!-�������
! �4"���� 9 0 �������$�-���'�������� 0.10 .�4 �
!-�������
! �4"���� 11 #!� 12 

��
!-���� #��
� � �����!��$�#�!
*�
�����#!���!��$�� ��!�
*�
�
&����!�$�'����6�� ��
&���� 


�1!� ���4��1!1!&����������
 .�4 �
!-�������
! �4"���� 2, 9 #!� 11 ��
 12 

(�$���� ���
����&��&:*�
 ECt-1 *�
�
���#��%-�!�
�� ���� 0.011468 7��
+
 ����!"�

������������0�+�" (-1 < ECt-1 < 0) �
�$���
� � � ����
�!����!�����������$
������%����!$2��
%�+
 ��������*"��5 ��!$2��.���$�$�� #!�+
 
���$�-���'��
��&�&*�
� ���
����&��&:*�
 ECt-1           

(0 �������$�-���'�������� 0.10) � 
���+�"� ����#����!����"� #!������#!���!��$�� ��!�
*�

�
&����!�$�'����6�� ��
&���� +
 
����
��
����������� ��4��1!1!&����������
 

 ����&����������
��
�����*�
��!����"� �����#!���!��$�� ��!�
*�
�
&����!�$�'����6�
� ��
&���� #!� ��4��1!1!&����������
 .���$�$��
�1!����������
��	 
 

lnYMPI        =         41.6474         -         15.3658lnTB         -          10.5259lnNEXJPY                 (4.7) 

      (0.85597)       (-0.83658)          (-0.75211) 

 

�
�$���� : 1) ����!*.��
�!8� ( ) #��
� ���&�& t-statistic (two-tailed tests) 
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 �����*�
��!����"����
�1!� ���4��1!1!&����������
 %���
��� (4.7) ��� � � �
��
����&��&:*�
���#����!����"� (lnTB) �� ���� -15.3658 (�$� ���
����&��&:*�
���#����/�!� 

7��
+
 ��/�+���
�

�&)��*�
#��%-�!�
 ���+�"������
+�" �! ����� �����!��$�#�!
*�

��!����"� � 
1!.��&���
��
���*"�
 ��� ��4��1!1!&����������
 %��� ���
����&��&:���+�"�� ���� 

-15.3658 �
�$���
� � �
���
5!� ���!����"���&�
*�	��"�$!� 1 %��-�.�" ��4��1!1!&����������
 

!�!
�"�$!� 15.3658 (�$+
 
���$�-���'��
��&�& (0 �������$�-���'�������� 0.10) #��
.�"��8�� � 
��!����"�+
 
����
��
��������1!&�2�03�
�!��
2�$.�������*�
������+�$.���$�$�� 

 �����*�
�����#!���!��$�� ��!�
*�
�
&����!�$�'����6�� ��
&���� ���
�1!� ���4��
1!1!&����������
 %���
��� (4.7) ��� � � ���
����&��&:*�
���#�������#!���!��$�� ��!�

*�
�
&����!�$�'����6�� ��
&���� (lnNEXJPY) �� ���� -10.5259 (�$� ���
����&��&:*�
���#����/�
!� 7��
+
 ��/�+���
�

�&)��*�
#��%-�!�
 ���+�"������
+�" �! ����� �����!��$�#�!
*�

�����#!���!��$����� ��!�
*�
�
&����!�$�'����6�� ��
&���� � 
1!.��&���
��
���*"�
 ��� ��4��
1!1!&����������
 %��� ���
����&��&:���+�"�� ���� -10.5259 �
�$���
� � �
��������#!���!��$�
� ��!�
*�
�
&����!�$�'����6�� ��
&���� ��&�
*�	��"�$!� 1 %��-�.�" ��4��1!1!&����������
 

!�!
�"�$!� 10.5259 (�$+
 
���$�-���'��
��&�& (0 �������$�-���'�������� 0.10) #��
.�"��8�� � 
�����#!���!��$�� ��!�
*�
�
&����!�$�'����6�� ��
&���� +
 
����
��
����������4��1!1!&�
���������
 .���$�$�� 
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4.8 �	
�&�-���������%�$�'�		�!�����	�!������������!�)*	���������$�%����+���%,��#�������� 
 
 ����������
*�	���� 2 *�	���� .���������� ARDL ��	���� � .�*�	������� 1 7��
��/�
���������

�&)��� �#��%-�!�
��������
����
��
���������$5 ����+
  (�$����-���0� ���&�&  
F – statistic %�+�"1!%������-���0� � F – statistic ��
#��
.�����
 4.15 7��
��0������
#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&���� �
����&%��0���	
#� 4 �
*�
!-�������
! �4"���� 
1 ��
 12 ��� �� ���&�& F – statistic ����-���0+�"
�� ��5
�� �� ��&�,�*���*����$5  1 !-���� ��� ���
!-�������
! �4"���� 12 %�
��
����9&����

�&)���!��+�" #!����+�"� ����#��
����
��
�����
���.���������
! �4"���
�! �� � ����0����!-�������
! �4"���� 1 ��
 11 ��� �� ���&�& F – statistic ���
�-���0+�"
�� ������-��� �� ��&�,�*���*�! �
 %�
+
 ��
����9&����

�&)���!��+�" 7��
���+�"� � 
���#������-��������� +
 
����
��
�������� #� �$ �
+��8��
����&����������
�����&��&2��
���� �
��� *�	������� 2 ���
�������
�0� �(�$�&%��0�%�� Error Correction term (ECt-1) �����8��� Error 

Correction Model (ECM) ��
��������� ARDL 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



91 

��	����� 4.15 � ���&�& F – statistic �-���������&����������
����
��
��������*�
���#����!����"� 
�����#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&���� #!�����%�&'��&�(���
����)�&%*�

������+�$ (��4��1!1!&����������
) 

!-�������
! �4"� (Lag Order) ����%�&'��&�(���
����)�&%*�
+�$ 

1 0.56443 

2 2.85350 

3 1.90680 

4 1.85420 

5 1.16280 

6 1.20810 

7 1.40960 

8 1.36610 

9 1.85990 

10 1.54730 

11 1.94650 

12    4.30960** 

���
� : %������-���0 

�
�$���� : 1) **  #��
��$�-���'�������� 0.05 

 2) 0 �������$�-���' 0.05 � �*���*��&�,�*�
� ���&�& F – statistic   

  �$5 .�4 �
 3.219 – 4.378 

 
 �����������
����
��
��������%��������
�0� �*�
 ECt-1 ���� ECM ��

��������� ARDL ��
����
��� 4.16 (�$��/����#��
��
�����&��!+��������������%��       

��!$2��*�
���#������"�
����������	
�
� +�"#�  ��4��1!1!&����������
 (lnYMPI) ��!����"� 
(lnTB) #!� �����#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&���� (lnREXTHB,JPY) .�"�*"��5 ��!$
2��.���$�$�� 7��
�����������*"��5 ��!$2��.���$�$��*�
#� !����#����	�.�"1!.�4 �

��$���!�*�
���
! �4"����#��� �
������+� 

 1!�������������*�
��!����"� #!������#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� �
�
&���� ���
�� ���4��1!1!&����������
 ��/���
��	 
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 ���#����!����"� (�lnTB) ��
����
 4.16 ��� � AIC �!���4 �
��!������
���
��� ���

! �4"�!-������� 1 ��
 10 (�$���#����!����"� 
�� ���
����&��&:�� ���� 0.1269, -0.0844, -0.18859, -

0.1728, -0.071978, -0.05007, -0.074414, -0.077488, -0.12053 #!� -0.1963 7��
� ���
����&��&:���
�
� ���/���� ����!"�
����

�&)�������	
+�".�4 �
���
! �4"���� 1 � ��� ���
����&��&:���
�� ���/�!� 

+
 ����!"�
����

�&)�������	
+�".�4 �
���
! �4"���� 2 ��
 12 (�$��� �� ���&�& t-statistic ���
�-���0+�" 
���$�-���'��
��&�& 0 �������$�-���'�������� 0.05 .�4 �
!-�������
! �4"���� 1 #!� 3 

0 �������$�-���'�������� 0.10 .�4 �
!-�������
! �4"���� 4 #!� 9 0 �������$�-���'�������� 0.01 

.�4 �
!-�������
! �4"���� 10 #��
� � �����!��$�#�!
*�
��!����"� 
����
��
�������� ��4��
1!1!&����������
 .�4 �
!-�������
! �4"���� 1, 3, 4, 9 #!� 10 

���#�������#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&���� (�lnREXTHB,JPY) ��

����
 4.16 ��� � AIC �!���4 �
��!������
���
��� ���
! �4"�!-������� 1 ��
 12 (�$���#�������
#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&���� 
�� ���
����&��&:�� ���� -0.023944, -0.37056,     

0.026927, -0.22992, -0.16848, 0.028701, -0.036259, -0.017425, -0.53628, 0.25729, -0.13262 #!� 

-0.27905 ��
!-���� 7��
� ���
����&��&:���
�� ���/���� ����!"�
����

�&)�������	
+�".�4 �
���

! �4"���� 3, 6 #!� 10 � ��� ���
����&��&:���
�� ���/�!� +
 ����!"�
����

�&)�������	
+�".�4 �

���
! �4"���� 1, 2, 4, 5, 7 – 9, 11 #!� 12 (�$��� �� ���&�& t-statistic ����-���0+�"
���$�-���'��

��&�& 0 �������$�-���'�������� 0.10 .�4 �
!-�������
! �4"���� 10 0 �������$�-���'�������� 0.05 

.�4 �
!-�������
! �4"���� 2 #!� 12 0 �������$�-���'�������� 0.01 .�4 �
!-�������
! �4"���� 9 

#��
� � �����!��$�#�!
*�
�����#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&���� 
�1!� �
��4��1!1!&����������
 .�4 �
!-�������
! �4"���� 2, 9, 10 #!� 12 

 (�$���� ���
����&��&:*�
 ECt-1 *�
�
���#��%-�!�
�� ���� 0.073002 7��
+
 ����!"�

������������0�+�" (-1 < ECt-1 < 0) �
�$���
� � � ����
�!����!�����������$
������%����!$2��
%�+
 ��������*"��5 ��!$2��.���$�$�� #� 
���$�-���'��
��&�&*�
� ���
����&��&:*�
 ECt-1 (0 

�������$�-���'�������� 0.05) � 
���+�"� ����#����!����"� #!������#!���!��$����#�"%�&
*�
�
&�
���!�$�'����6�� ��
&���� +
 
����
��
����������� ��4��1!1!&����������
 (�$
���$�-���'��

��&�& 
 ����&����������
��
�����*�
��!����"� �����#!���!��$����#�"%�&
*�
�
&����!�$�'����6�
� ��
&���� #!� ��4��1!1!&����������
 .���$�$��
�1!����������
��	 
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lnYMPI         =         11.4169         -         4.1205lnTB         -         1.8222lnREXTHB,JPY                 (4.8) 

               (7.7066***)         (-4.2367***)             (-4.3101***) 

 

�
�$���� : 1) ����!*.��
�!8� ( ) #��
� ���&�& t-statistic (two-tailed tests) 

 2) *** #��
��$�-���'�������� 0.01 

 
 �����*�
��!����"����
�1!� ���4��1!1!&����������
 %���
��� (4.8) ��� � � �
��
����&��&:*�
���#����!����"� (lnTB) �� ���� -4.1205 (�$� ���
����&��&:*�
���#����/�!� 

7��
��/�+
 +���
�

�&)��*�
#��%-�!�
 ���+�"������
+�" �! ����� �����!��$�#�!
*�

��!����"� � 
1!.��&���
��
���*"�
��� ��4��1!1!&����������
 %��� ���
����&��&:���+�"�� ���� 

-4.1205 �
�$���
� � �
���
5!� ���!����"���&�
*�	��"�$!� 1 %��-�.�" ��4��1!1!&����������
 

!�!
�"�$!� 4.1205 (�$
���$�-���'��
��&�& 0 �������$�-���'�������� 0.01 #��
.�"��8�� � 
��!����"�
����
��
����������4��1!1!&����������
 .���$�$�� 
 �����*�
�����#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&�������
�1!� ���4��
1!1!&����������
 %���
��� (4.8) ��� � � ���
����&��&:*�
���#�������#!���!��$����#�"%�&

*�
�
&����!�$�'����6�� ��
&���� (lnREXTHB,JPY) �� ���� -1.8222 (�$� ���
����&��&:*�
���#��
��/�!� 7��
��/�+
 +���
�

�&)��*�
#��%-�!�
 ���+�"������
+�" �! ����� �����!��$�#�!
*�

�����#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&���� � 
1!.��&���
��
���*"�
��� ��4��
1!1!&����������
 %��� ���
����&��&:���+�"�� ���� -1.8222 �
�$���
� � �
��������#!���!��$����
#�"%�&
*�
�
&����!�$�'����6�� ��
&���� ��&�
*�	��"�$!� 1 %��-�.�" ��4��1!1!&����������
 !�!

�"�$!� 1.8222 (�$
���$�-���'��
��&�& 0 �������$�-���'�������� 0.01 #��
.�"��8�� � �����
#!���!��$����#�"%�&
*�
�
&����!�$�'����6�� ��
&���� 
����
��
����������4��1!1!&����������
 

.���$�$�� 
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